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SOME IMPORTANT FRACTION





(a) 90000

(b) 102000

(c) 110000

(d) 100000

Hw:-The price of motorcycle depreciatesevery year by 8%. If the value of 

the motorcycle after 2 years will be Rs. 84640, then what is the present value 

(in Rs.) of the motorcycle?

[a z¶k| ¥©Sªa~ a² z­Ď{ zâ ĽĀ{²a ¢¤è 8% a© ń©¥ ¦¶p© ¦³Ê {ªr 2 ¢¤è x©r z¶k| 

¥©Sªa~ a© z­Ď{ 84640 ƀv{² ¦¶c©, p¶ z¶k| ¥©Sªa~ a© ¢pèz©t z­Ď{ (ƀv{² zâ) 

ñ{© ¦³?



a)28500  

b)25200  

c)34300  

d)37000

There were two candidates in an  election. One got 43 % of total votes  and 

lost by 3528 votes. Find the  total votes ?

[a f¬t©¢ zâ r¶ UĊz«r¢©| q²Ê [a a¶ a¬~ zpƊ a² 43% zp ªz~² `| ¢¦ 3528 zpƊ ¥² 

¦©| c{©Ê a¬~ ¢¶k ð©p aĪªh{²?



a)72000  

b)60000  

c)69000

d)76000

There were two candidates in an election. 12% of voters did not cast their 

votes. The winningcandidate secured 46% vote of total votes

and won by 2880 votes. Find  the total votes.

[a f¬t©¢ zâ r¶ UĊz«r¢©| q²Ê 12% zpr©p©_O t² ¢¶k t¦ħ m©~©Ê h«pt² ¢©~² UĊz«r¢©| 

t² a¬~ ¢¶kƊ a© 46% ¢¶k ¦©ª¥~ ªa{© `| 2880 ¢¶kƊ ¥² h«p©Ê a¬~ zp ð©p 

aĪªh[Ê



a)63600  

b)58800  

c)69000

d)54900

Thereweretwo candidates inan election. 7% of voters did not cast

their votes.The winning candidate secured 48% vote of total votes and 

won by 1764 votes. Find the total  votes.

[a f¬t©¢ zâ r¶ UĊz«r¢©| q²Ê 7% zpr©p©_O t² ¢¶k t¦ħ m©~©Ê h«pt² ¢©~² UĊz«r¢©| t² 

a¬~ ¢¶kƊ a© 48% ¢¶k ¦©ª¥~ ªa{© `| 1764 ¢¶kƊ ¥² h«p ¦©ª¥~ aĪÊ a¬~ zp ð©p 

aĪªh[Ê



a) 1000

b) 1500

c) 2000

d) 2500

A student has to secure 35% marks to pass. He secured 650 marks and 

failed by 50 marks. Find the maximum marks.

[a ª¢ũ©qĨ a¶ Uî«oè ¦¶t² a² ª~[ 35% QOa Ľ©Ŭ a|t² q² Ê U¥t² 650 QOa Ľ©Ŭ ªa[ 

`| 50 QOaƊ ¥² Qt¬î«oè ¦¶ c{©Ê Qªsapz QOa ð©p aĪªh[Ê



a) Rs. 84 crore

b) Rs. 42 crore

c) Rs. 21 crore

d) None of the 

above

The share of A is 12.5% less than the share of B, the share of B is 14 2/7 % 

more than the share of C and the share of C is 25% less than the share of D. 

If the difference in the share of B and D is Rs. 16 crores, then find the share 

of A.

A a© ª¦Ĕ¥©, B a² ª¦Ĕ¥² ¥² 12.5% az ¦³, B a© ª¦Ĕ¥©, C a²ª¦Ĕ¥² ¥² 142/7% 

Qªsa ¦³ `| C a© ª¦Ĕ¥©, D a² ª¦Ĕ¥² ¥² 25% az ¦³Ê {ªr B ̀ |D a² ª¦Ĕ¥² zâ QOp| 

16 a|¶Â ſv{² ¦³, p¶ A a© ª¦Ĕ¥© ð©p aĪªh[Ê



a) 25%

b) 50%

c) 33%

d) 16.66%

This year, the cost of a pen increased by 16.66% over that of the last year. Last 

year a pen costedRs.12 and a pencil costedRs.4. This year it costs Rs.50 more 

to buy 15 pencils and 10 pens. Find the percentage increase in the price of the 

pencils.

S¥ ¢¤è, [a a~z a© z­Ď{ ªvg~² ¢¤è aĪ p¬~t© zâ 16.66% xÃp© ¦³Ê ªvg~² ¢¤è [a a~z 

a© z­Ď{ 12 ſv{² ̀| [a vâª¥~ a© z­Ď{ 4 ſv{² q©Ê S¥ ¢¤è 15 vâª¥~ `| 10 a~z 

b|«rt² zâ 50 ſv{² Qªsa bfè ¦İ[Ê vâª¥~ a² z­Ď{ zâ Ľªp£p ¢®ªŤ ð©p aĪªh[Ê



a) 45%

b) 15%

c) 25%

d) 35%

A person spends 60% of his income on food in a month and decides to increase 

this expenditure upto70% of his income provided his income remains the same. 

By what percentage he must decrease its other expenditures so that he does not 

have any money in his hands afterward?

[a đ{ªŇ Qvt« R{ a© 60% [a z¦«t² zâ y¶ht v| bfè a|p© ¦³ `|S¥ bfè a¶ Qvt« 

R{ a² 70% pa xÃ©t² a© w³¥~© a|p© ¦³ x£pã U¥aĪ R{ ¥z©t |¦²Ê U¥² Qvt² QĄ{ bfƌ 

zâ ªapt² Ľªp£p aĪ az« a|t« f©ª¦[ p©ªa x©r zâ U¥a² v©¥a¶T v³¥© t |¦²?



a) 96,000

b) 1,20,000

c) 1,00,000

d) 1,23,000

In a election two candidate participated. 80% of the voters cast their votes, out 

which 5% of the votes were declared invalid and the winning candidate get 60% 

of valid vote and he win by 18696 votes. Find the total number of votes enrolled 

in that election.

[a f¬t©¢ zâ r¶ UĊz«r¢©|Ɗ t² y©c ª~{©Ê 80% zpr©p©_O t² Qvt© zp m©~©, ªh¥zâ ¥² 5% 

zp Q¢³s d¶ª¤p a| ªr[ c[ `| h«pt² ¢©~² UĊz«r¢©| a¶ 60% ¢³s zp ªz~² `| ¢¦ 

18696 zpƊ ¥² h«p c{©Ê U¥ f¬t©¢ zâ t©z©Oªap zpƊ aĪ a¬~ ¥Oò{© ð©p aĪªh[Ê



a) 5 : 1

b) 7 : 2

c) 1 : 5

d) 2 : 7

The income of the Ramesh and Rkis in the ratio 2 : 5. The net expenditure of 

Ramesh is 60% of what Rkspends. If the net savings with the Ramesh at the end 

of the year is one-fourth of his income, find the ratio of savings of Ramesh and 

Rk.

|z²£ `| R|a² aĪ R{ 2 : 5 a² Qt¬v©p zâ ¦³Ê |z²£ aĪ £¬Ť đ{{ R|a² a² đ{{ a© 60% ¦³Ê 

{ªr ¢¤è a² QOp zâ |z²£ a² v©¥ £¬Ť xfp U¥aĪ R{ a© [a-f·q©T¦³, p¶ |z²£ `| R|a² 

aĪ xfp a© Qt¬v©p ð©p aĪªh[Ê



a) Rs. 10

b) Rs. 15

c) Rs. 13

d) Rs. 17

If price of apples is increased by 20 percent, then a person can buy 4 apples less 

for Rs. 312. What is the original price of an apple?

{ªr ¥²x a² z­Ď{ zâ 20 Ľªp£p aĪ ¢®ªŤ aĪ h©p« ¦³, p¶ [a đ{ªŇ 312 ſv{² zâ 4 ¥²x az 

b|«r ¥ap© ¦³Ê [a ¥²x a© ¢©Ĕpª¢a z­Ď{ ñ{© ¦³?




